=B A

1 2 3 4 5 6 7 8
810 | ~ | 8:20 -
820 | ~ | 8:30 A BB £HR
8:30 | ~ | 840 "
520 | < 850 =24 iR HE #HE

SALT—T I

9:20 | ~ | 9:25 |DBG-A-1 |DBG-B-1 |DBG-C-1 [DBG-C-2 |GDA-A-1 |GDA-A-2 |GDA-B-1 |GDA-B-2
9:25 [ ~ | 9:50 |BDA-1 GDC-1 EBGD-1 |BCD-#}¥ |GDB-ikM|DBG-A-2 |[DBG-B-2 [DBG-GC-3
9:50 | ~ [ 10:15 |DBG-C-4 |GDA-A-3 |GDA-A-4 |GDA-B-3 |GDA-B-4 |BDA-2 |GDC-2 |[EBGD-2
10:15 | ~ | 10:40 |DBG-A-3 |[DBG-B-3 |DBG-C-5 |DBG-C-6 |GDA-A-5 |GDA-A-6 |GDA-B-5 |GDA-B-6
10:40 | ~ [ 11:05 |BDA-3  (GDC-3 |EBGD-3 |DBG-1 GDA-iRB [GSA-A-1 [GSA-B-1 [GSA-C-1
11:05 [ ~ | 11:30 |DBG-3R % |GSA-D-1 |GSA-D-2 |GSA-E-1 |GSA-E-2 |DBGS-A-1|DBGS-B-1|DBGS-C-1
11:55 | ~ | 12:20 |DBGS-D-1|DBGS-E-1|EBGS-A-1|EBGS-B-1|EBGS-C-1|EBGS-C-2|BSA-A-1 [BSA-B-1
12:45 | ~ [ 13:10 |BSA-C-1 |GSC-A-1 |GSC-A-2 |GSC-B-1 |GSC-B-2 |BSC-A-1 |[BSC-B-1 [BSC-B-2
13:10 | ~ [ 13:35 |GSB-A-1 (GSB-B-1 |BSB-iRM; |GSA-A-2 |GSA-B-2 |GSA-C-2 |GSA-D-3 |GSA-D-4
13:35 | ~ | 14:00 |GSA-E-3 |GSA-E-4 |DBGS-A-2|DBGS-B-2|DBGS-C-2|DBGS-D-2|DBGS-E-2(EBGS-A-2
14:00 | ~ | 14:25 |EBGS-B-2|EBGS-C-3|EBGS-C-4|BSA-A-2 |BSA-B-2 |BSA-C-2 |GSC-A-3 |GSC-A-4
14:25 | ~ | 14:50 |GSC-B-3 |GSC-B-4 |BSC-A-2 |BSC-B-3 |BSC-B-4 |GSB-A-2 |GSB-B-2 [GSA-A-3
14:50 [ ~ | 15:15 |GSA-B-3 |GSA-C-3 |GSA-D-5 |GSA-D-6 |GSA-E-5 |GSA-E-6 |DBGS-A-3|DBGS-B-3
15:15 | ~ | 15:40 |DBGS-C-3|DBGS-D-3|DBGS-E-3|EBGS-A-3|EBGS-B-3|EBGS—-C-5|EBGS-C-6|BSA-A-3
15:40 | ~ [ 15:55 |BSA-B-3 |BSA-C-3 |GSC-A-5 |GSC-A-6 |GSC-B-5 |GSC-B-6 |[BSC-A-3 [BSC-B-5
15:55 | ~ | 16:20 |BSC-B-6 |GSB-A-3 |GSB-B-3 |GSA-1 DBGS-1 |EBGS-1 [BSA-1 GSC-R k5
16:20 | ~ | 16:45 |BSC—iR % |GSB-iRMs |GSA-2 |GSA-3  |DBGS-2 |DBGS-3 |EBGS-iRMBIBSA-Ri
16:45 | ~ | 17:10 |GSA-3R % [DBGS—iR %




